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sz 89,763,913 90,799,610 21,035,697

= 782,359 782,359 0

=S 88,981,554 90,017,251 41,035,697

)| A2 DY (LS ST /LET) 16,717,789 16,802,789 A85,000
A=K 5 10,665,034 10,450,034 215,000
S2¥ SN 29 10,573,034 10,358,034 215,000
201 £Er2dY] 8,641,802 8,426,802 215,000

01 At 22l HI 260,000 310,000 £A50,000
o=3 g S28 A X 260,000 310,000 250,000

04 XSESX M AIEBH| 8,371,802 8,106,802 265,000
O3R¥ XEE =SNHNE 22 6,237,348 5,972,348 265,000
e nEEe 25 2,845,117 3,145,117 £A300,000
SR8 UEEd 29 2,041,560 2,341,560 £A.300,000
201 ¢Bt2gH| 813,400 903,400 490,000

01 Ar2 22| H| 813,400 903,400 £A80,000
O=U & AFIILSWHE AN 486,800 576,800 90,000

202 Ol 1,228,160 1,438,160 A210,000

04 =Xl 2 0d Hl 463, 160 523,160 £A60,000
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O=2 FJIUT A=t SEIIE XY 31,500 54,000 A22,500

05 S22 us0 762,000 912,000 A150,000
O=U & A BIUF 490,000 597,000 A107,000

OJ12 & HRIZUFUF 272,000 315,000 243,000
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= 751,964 751,964 0
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307 212t01 ™ 240,000 280,000 £A40,000
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= 665,008 667,408 22,400
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& 66,015,518 66,902,518 A887,000
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Og et 5,129,589 5,509,589 380,000
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